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92. An object with initial velocity —10 m/s accelerates at
2 m/s2. What is the total distance traveled in 15 s?
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An object is launched upward at an initial velocity of 40
m/s. How high will it go?
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93. A cannon is fired at 30° above the horizon. What is

—~ the minimum exit velocity needed to clear a 10 m wall?
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A boy walks at 4 m/s toward the center of a merry-go-

— round rotatirng clockwise at 5 rpm. Find his acceleration.
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A slider moves at 20 ft/s along a rod rotating about a
pivot at 5 rad/s. Find acceleratlon 4 ft from the pivot?
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99. A ball strikes a flat, horizontal surface at 30°. Find
the reflection angle if the coefficient of restitution is 0.8.
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98. A 50 kg object moving at 40 m/s strikes a spring (k
= 20kN/m). Determine the maximum deflection.
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A bullet of mass m strikes a stationary pendulum of

— mass M. Find the bullet velocity v in terms of the
b, pendulum length L and the maximum angle ©.
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8. Find the damping ratio and natural frequency of a
P system described by the following equation.
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10



5 J"f 25‘:7 = Jbsrant

y(:}’o
(7'{”)’3 ~
ﬁomg;&wwﬁ
y"*zsi':o r* r 2% =5
. Azosw{rBJfﬁw‘i‘ (e—at s )

w:/__;_;' =,li'5‘ e 5

e PR TR

C) 1 w=3 [ Feveed //é/q/;.,,,)

X =

8) Arpliivet y"f 87' £3505 TR, - w- & [netnal fnywvﬁ)

y = Asott 4B esTt

-25Asn ce-25BrosSE +fonsos St —4OBs A5t + 25 AsiaSE 1 YBresSt~ [65in5¢t
_YpBusin St =[6502 5 v B=by e,
YoAcos SE= 0 A= 0
T 0:"’,5;05*

}pﬂ’ =




What is the natural frequency of a slender rod of length
P L and mass m that is pinned at one end? skip

L (1- cos®)

I = ‘majr'n‘é‘ =M,

0= 88
\--. !c EI"‘ (N
e Y Vo g dral
5'.‘2:'9 §=3 2

" 'L %-:
o+ ’35\’\ SInD ¥
3-&7;3-9--0 o
Compae +l'o free viblaten VJV\:-J'Z}
~—~ wm=| ) c=0 , b—-’% -

97. The maximum acceleration of a simple pendulum
occurs at the top of a swing. Find this acceleration for a
2 m pendulum with a maximum angle of 30°.
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96. A string is wrapped around a 50 kg cylinder of
P~ radius 0.4 m and attached to a 20 kg mass. Find the
tension in the string if the cylinder rotates freely?
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94. Find the angular velocity of link AB if the angles %
= are both 30°. Both links are 50 cm long, and the slider
moves at velocity 20 m/s to the right.

\/B/kuv* _L &%

\Ic wust be Yerizentzd

\}‘/: —L =
Va \% Ny,
0

==Wpal ==-0.5uw,a

-

ggkul\ahfa.l -‘b(.\wb\ﬂ_ ,
o~ gy 20 = Offwaé—ﬁrsﬂwa\b Wee ' “aa :—"‘Dmdlsec,

28. Find the slider velocity and the angular velocity of
the 50 cm link BC. The 30 cm drive link is vertical

with an angular velocity of 10 rad/s. 5
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